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(vii) BRSO (viii) INC @ 2FEF (ix) XS 6 §eA () (0, 0)
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815.9) k # -b (ii) k # -4 (iii)) k # 6, 10. (1) %g‘ (i1) % (iii) — 15
zesiRaet - 1(b)

1.(1,1),2.(3,6),3.(2, 1), 4 (2, 3),5.(2, 4), 6.(1, 2), 7. (-1, 2), 8.(1, -3), 9. (6, -3),
10.b8 5 @@, 11.a=7,b=4
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1 45 98 6 1594; 2. 126 17: 3. 7 9662.8.; 4 88 @.628.; 5. 4, 8; 6. 47 @ 74;
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@.8.; 13. 6000 GF1 & 5250 ORL; 14. 140 G&1 8 100 SF1; 15. 3% 6 5a.8.; 16 %; 17.

40 @ @ 10 @.; 18. USRIV 40 @.8. 6 30 §.8.; 19. 89 SAl 98; 20. 20,30; 21. (i) 60°
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AR - 2(a)
1. (i) d, (i) a, (iii) ¢, (iv) d, (v) a, (vi) ¢
2. (1) c=-=16, (i) 3, (i) -3, 2 (iv) T (v) 0, 3) (vi) =

L L% _ B8 i 5.8
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. () x=1 (i) t =2* 6AYER x? —2x + 1 = 0
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3 =3 2 3 3 Tm+5 a 5

(1) 32, (i) 12% (i11) 37, (iv) 1084, (v) [5] U [;) , (vi) (EJ . (vii) [E} )
2\ 3y - e
ool 0 ' 3

. T b : : 3
(1) 0.01, (n) —g- (n1) 720, (1v) -2', () 1 (w) 1 (v} E
3oL 256 .00.._1_._.3
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iy 2afa
Vi SH3

(vii) 243, (viii) 38, (ix) —

625°

(Ja-b, (i) 1-a, @)l -a, (iv)x+y(vi) x? + xly! + y?

Lol

L Lol oa 29

(W) x Cy °z ° , (i) xy®z & (iii) a 2. b, c2*

. ()3 §2.

(1) 2, (1) % (ni) -4 4.

2A261Re1 = 3(c)
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1. (i) 100 (i) 3 (1ii) 5
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=10 mZAOD =mZBOC =70, mZ0ABR = mZ0OBA =mZ0CD = m-20DC =

35, m£ZOAD =m<£ODA = mZOBC = m£OCB = 55, mZ0AB = mZABC =
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5. (i)735°, 40° 70°, 75° (iii) 10 6Q.8., (iv) 12 6Q.8., (v) 12 6Q.8.; 6 m LAXB = 115
m £ AYB = 61°|

ARSI - 9(a)
1. (a) (@) 5?% sa.f;‘i, (i) 17.6 6Q.81., (iii) 88 6Q.81., (iv) 26.4 6Q.8.; (b) (i) 52 6.6,
(ii) 166% 6Q.8., (i) 4 628, (iv) 2.5 62.8. |
2. 39380 @.6. 3. 1408 4 17 @. 5.264 €, 220 6. 6 7628
7. 5410 & 8. 250 8@ 9. 6336 f. 10. 88 €., 22 8. 11. 112 .
2 87 4864, 13,286 145568 15 63 6.4 16. a = /2
17. 62.8 62.91. 18. 8843 6Q.6., 4443 6@
19. (a) 36 6Q.8., (b), 24 6&.8., (c) 160 &,
. 20, (a) 60°.(b) 20 6Q.8.; 21. (a) 60°, (b) 4.4 6Q.41., (c) 63 6Q.4., {d) %
22, 17.854 6Q8.; 23. 3:2: 24. 14 6Q8.; 25. 120°, 26. 40 6Q.8.; 27. 243 G4 |
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(i) 3118.5 Q.4 (ii) 9856 @.6Q.8., (iii) 6506.5 .62.8., (iv) 616 @.81.; 2, (i) 14

(i) 308 @.; 3. ?ueqﬁ.; 4.2 :Jx ;515 62.8.; 6.2 ¥99; 7. [”‘V_;: 2,
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12. 79.92 &&1; 13. 1078 @.6Q.60.; 14. 4 &; 15. 512 @&, 16. 21 6a.§., 14 ea.ﬁ.;
17. 616 9.69.6.; 18 1.54 98a; 19. 55095*3‘?1- 20 1589 @@1; 22 616 9.62.4.;

23. 423 6Q.8.; M(:}EZI-@GGﬁ (11)2200 'am (ii1) 1134 @.61., (iv) 1782Q.8.;

25. (i) 42 1., (ii) 80 @..; 26.() 70° (i) 135, (u:} 60“. 27. 3 ©.69.61.; 28.() 1000 <.§1.,
(i) 600 @.6Q.6.; 29. 14 §.; 30.7849.6Q.6.; 31. (1) 9 @@, (ii) 3:2 |
agdiee! - 9(c)

.(a) 480 ©.69.81., 528 ©.69.41., (b) 128 @.8., 152 .8.; 2 (a) 6828 Q.8., 8428 Q.41,,
(b) 720 9.69.8., 907.056 9.69.81; 3. 20 6.8, 1008 @.6Q.8.; 4.3 6Q.F,; 5. 1056 9.5
6. 20 6.8, 21 6Q.8.; 7.(a) 180 2.8., (b) 1150 .68, (c) 10 .; 8 2592 @.62.8;
9. 233 G@1; 10.36 G, 30 &., 24 8.; 11. 16 1., 14 A.; 12, 235 &Q; 13 2680 Q.6Q.41.;
14, 20 6281, 10 62.6., 5 6Q.8.; 15. 275 o=l; 16 25 @., 1.5 &.; 17 (a) 200 &.9.,
(b) 72 @41, (c) 2904 Q.6., (d) 15 &.; 18. 6 6a.8.; 19. 40 &.; 20. 1 56<.8.; 21. 20

628, 15 sa:ﬁ.; 22. 23;’_6% 23. (a) 1056 @.6Q.8., (b) 21 8., (c) 7524 @.6_.8,,

]
24.750 &y 25. 23 A.; 26.30 &.; 27. 2 6. §: |

agelaat - 9(d)
1 6300 @.8.; 2. 448 9.62.8.; 3 30 §., 1680 @.8.;: 4. 6 698, 8 6af; 5.8 4,;
6 849.8,; 7 443 6d8,; 8 42 628, 42 62.8.. 9 36043 2.8.; 10. 1280 Q.8,;
1 3.12351.";‘1.;*12. 1%— ﬁ 13. 31250 §6; 14. 1332 2.8.; 15, 4452. Q.62.4.; 16,6?.;
17 129, 169L; 12 6 4., 8 6.: 1914 f; 20 1460.4.; 21 2= 95:22 21 63A;
23 385 S.60.0.; 24 1386 9saf; 25 - 629.. 26 504 §.; 27 3234 9.62.4.;
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Q)= I

AR - 11.(a)

(i) secB, cosecB, (i) sec B, cosecB, (iii) cos A, (iv) V2sinA, (v) sin(a - P),

(vi) cos (oo — ). (vii) cos (A — B)
B+l B3+ 672 185 —36 323
242 * 242 * T o eS| 305
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2AQENRRT - 11.(b)

(a) cos 10°(b) sin 25°. (e) 0, (d) 0, (e) 0, (H) 0, (g) sin 180" (h) 0, (i) 0. ()0
() @ (x) 94’ gesiea dARIQeds |

(@) 0, Gi) 1, (i) 1, (v) 1. (v) 1, (vi) 1

(i) ;%‘ (i) 1, (i) 1, (iv) 1, (v) ;j (vi) 05 5. () L, (ii) 1

. (i) A=90°% B = 45° (i) A = 90°, B = 60°, (iii) A = 45°% B = 15°, (iv) A =90°. B= 45°

AQENART - 11.(c)

1. 69.28 4., 2. 46.76 4., 3. 15.86 {1, 4. 6 §i., 5. 223 6., 6. 2598 G.. 7. 200 €.,
8. 56.78 d., 9. 1042 &., 20v2 @., 10. 2254., 11. 27328.. 12. 2771 a.,
13. 81.96 6., 14. 342 &., 642 @., 15 21.966., 16. 2078 4. |



